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EISCER < ERRI DRIV

A. sl B. Irwet

C. et D. ==t
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A. Gt @ B. ff*ex ceent
C. 319 T3 N G el D. “[fesre famyere

T o At TR @I @fam =2

A. Gifes B. @i
C. =M D. @0
oo fra T wifHw 2R @EG?
A. T B. 3T=Ifs
C. 34 D. wmre
e i wf{ QT @72

A. €93 B. weatey
C. Sy D. 34w
‘T’ % G GIR @ S (ATP-
A. RO B. waf%
C. sz D. fef%

T TR AFAm T Pt S @t @3z Terem
Ry wrat s =a?

A. I T B. SRygted A
C. =g T D. =% =

&7 SRE @I 5T FCACR?

A. Seifafost B. e

C. u=m D. Tify-fifs
AT TN G I eaie-

A. ddo¢ A [’ B. 3o AV
C.yacqaa v D. »s8a AV’

Answer : 1.C 2A3.B 4D5.C6.C7.B 8B9.A
10.B 11.B12.B

13.

17.
18.
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20.

21.

22.

23.

24.

General English

Fill in the blanks with appropriate words
(Questions 13-15)

The tall gentleman ------- by the door is the bank
manager.

A. who standing B. is standing

C. stands D. standing

I am looking forward to ------- you.

A. seeing B. see

C. saw D. sees

Even as a child, sleep ------- Sumana.

A. liked B. eluded

C. disturbed D. loved

Fill in the blanks with appropriate prepositions
(Questions 16-17)

The building is made ------- bricks.

A.with  B.of C.on D. from

The Bullet Train travels

A. for B. in

------- 200 miles an hour.

C.at D. off

Choose the correct sentence:

A. Who belongs to the book?

B. Whom does the book belong?

C. To who the book belongs?

D. Who does the book helong to?

Which is.a synonym of the word Incredible?

A. Impervious
C. Unspectacular

B. Probable
D. Inconceivable

Choose the closest opposite meaning:

She is indeed human

A. universal B. devilish
C. divine D. terrestrial
Find the misspelt word: )

A. Percieve B. Receive
C. Belief D. Conceive
The word 'Paradigm' means:

A. Proof B. Parallel
C. Advice D. Example

Salman is one of the richest persons in the town.
What does the sentence imply?

A. No other man is as rich as Salman in this town.

B. No one in this town is rich.

C. Very few persons in the town are as rich as Salman.
D. Salman is very rich but others are also rich.

The expression "distinctive qualities’ means those
gualities of a person which.

A. are the same as those of others.

B. make him/ her different from others.

C. emphasise honesty in him/ her.

D. depend on his/ her instincts.

Answer: 13.D0 14.A 15. B 16.B 17. C 18.D 19. D
20.C21.A 22.D 23.C24B
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26.

27.

28.

29.

30.

31.

32.

33.

ZenafResei= (Accounting)
A e Romf o = o ™ @ o =JW?
(Which of the following accounts is closed at the
end of an accounting period?)
A. Capital (I574¥)
B. Unearned revenue (S/eifErs i)
C. Prepaid insurance (i fZ=t)
D. Drawings (Eteriv)
Refre ssife F «@ma e & F@? (What type of
balance does a contra asset account show?)
A. w5 (Debit)
B. t&f5 (Credit)
C. % (Zero)
D. tofib ¥k (@SS 7512 (Debit and Credit both)
935 oIk T @ @@ gIM FACS AN@? (How
many types of balances can an account show?)
A. w5 &= (Debit Balance)
B. =5 (&= (Credit Balance)
C. tefib «az (@f%s (e qeoi2 (Both Debit and Credit
Balances)
D. o5, G o %7 &= (Debit, Credit and Zero Balances)
R @ et Afde Tm? (Which of the
following equation is not correct?)

A. A=L+O/E B. A-L=0/E
C. A=0O/E D. A+O/E=L
T Tgm, AN Tgm ¢ RETFS ~a 7 INEW

20,000 51, wo,000 BIF € 90,000 BIF TeA RFAANT
A [JW F9? (How much is the cost of goods
available for sale if the beginning stock, closing
stock and the cost of goods sold are Tk.-20,000,
Tk. 30,000 and Tk. 70,000 respectively?)

A. ¢o,000 5= (Tk. 50,000)

B. 50,000 5= (TK. 90,000)

C. 00,000 5= (Tk. 100,000)

D. vo,000 5= (Tk. 80,000)

fAwe @ s w2 (Which of the following
is revenue expenditure?)

A. tif*ites @ (Purchase price of machinery)

B. waf¥its= fastt <=5 (Insurance cost of machinery)

C. tf¥eer wmsmifa &= (Import duty of machinery)

D. it s1g7 5% (Installation costs of machinery)
Crerq oge A W - | (Balance  Sheet is
prepared ------ 2

A. «f5 A2 ifitd (on a specific date)

B. sie 9=z« &=y (for the year end)

C. «3f5 feor q=eaw &= (for one accounting year)

D. «=f =ifds T=ez= &= (for one financial year)
TRIfed AN (TN Tgqm ~afe wks FEFa? (During
inflation, which inventory costing system is more

important?)

A. FIFO B. LIFO

C. HIFO D. Average Cost

TREA TAMIET TR I59 TGATS 0D | POGACE S/@

X AT IBER HETS S [N T AWK
o azd I FAF IBET 94 wHre Fo? (The
profit sharing ratio of two partners is 2:1. What
IS the new profit sharing ration of partnership
business if they accept another partner with an
agreed profit sharing ration of 1/5 of total
business profit?)
A. 35:¢ (2:1:5)

C.v:8:9(8:4:3)

B. 2:5:5 (2:1:1)
D. 8:x:¢ (4:2:5)

34.

35.

36.

37.

38.

39.

40.

41.

SIGER (I &S LT IRCAT TIGH AIHC IN MRCI?
(Which depreciation method shows the lowest
amount of depreciation in the first year?)

A. ==ieafs #mfs (Straight line method)

B. @=zrE “m&fe (Declining balance method)

C. 3% 147 w2 #i@fs (Sum of the years digit method)
D. Terims s (Units of production)

AMGIWIRCE AT 0e0 BIFR (5F TCA 79 IZCS 0G0
B @14l TR | @8 A ApisE e [RAadice e
@ate 7? (A creditor was paid in cheque Tk.
3520 which was wrongly recorded in the cash
book as Tk. 3250. How will this error be adjusted
in bank reconciliation statement?)

A. F° I3 AR @ 7R 290 5= (Added with cash
book Tk. 270)

B. e R@@da M @i 7@ 290 5= (Added with
bank statement Tk. 270)

C. 9" 33 (s s =@ 90 Bl (Subtracted from
cash book Tk. 270)

D. s @M 2F [t =@ 290 5= (Subtracted
from bank staement Tk. 270)

e e wnfds Reada wet @2 (Which one of the
following is not a component of the financial
statements?)

A. wiffs sz =@t (Statement of Financial Position)
B. 3= sicarem @@t (Value added Statement)

C. 7°w 271z =4t (Cash flow Statement)

D. sfeitzafre s @t (Statement of
Comprehensive Income)

Answer : 25.D 26.B 27. D 28.D 29. C 30.B 31. A
32.B33.C 34.A 35.C 36.B

[ NS 8 = (Business Principles)

TR @ 99 @ FieR Al [{eiweid =@wdw?
(For which work Frank Gilbreth's name is most
noted for?)

A. 53 ¢ oifs 531 (Time and motion study)

B. =1 #fawa= (Working condition)

C. =1 sraifyee@ (Work psychology)

D. siifers f=pe1 feeorea <& (Work as a social setting)
TR ARRE 1o FATHE Foe AW erE? (What
is the minimum number needed to form
cooperative society?)

A. v &9 (8) B. 5 & (9)

C. o &9 (10) D. ss@v(11)
famrarem s F? (What is the base of controlling?)
A. 3o (Organization)  B. #f&@se (Planning)

C. =i1ege (Staffing) D. ter=elt (Motivation)
TR WZAYd 8 fFHreresad YINE @ FIRER
w=@+fe? (Which of the following functions of business
include collection of resources and processing?)

A. Tawe (Production)

B. =ifs==el (Transportation)

C. snremssae (Warehousing)

D. sfiftreszel (Grading)

FfSfes Aetota Teirs &? (Who is the founder of
functional organization?)

A. w1 et (Henri Fayol)

B. u%.wfge.¢G== (F. W. Taylor)

C. w&fd @1, =171 (Henry L. Gantt)

D. wif¥ #F" w6 (Mary Parker Follet)




42.

43.

44,

45.

46.

47.

48.

49.

50.

ol.

wyfRe Aew Fon @wi? (Which one is the
modern organization structure?)

A. SRS (Line) B. swg =3 (Staff)
C. ¥rfefes (Functional)  D. w3 (Matrix)

QI IR &4 pffdt @2 (Which one
is the main disadvantage of sole proprietorship
business?)
A. ifsre =5 (Limited capital)
B. ifsrs smrew (Limited area)
C. s&is wiw (Unlimited liability)
D. Ffaw sei&=et (Lack of artificial entity)
ST TR 19 fefe @=B? (Which one is the
foundation of Partnership Business?)
A. sifers i (Ownership)  B. 5f® (Contract)
C. 3=1¢= (Capital) D. =t (Profit)
TR Sifew og SIS TR IFG FH GAER
siffmt? (According to Maslow's need hierarchy
theory, what type of need is the 'friendship in
work-field'?)
A. taes (Physiological)
B. fmieret (Security)
C. srife=s (Social)
D. sr=rfe@ = (Self actualization)
ARFEAR MIT  AICE I - I (Numerical
expression of plan is called ----- )
A. s (Policy)  B. @ (Goal)
C. artsG (Budget) D. w&= (Strategy)
wwenfar sl @9 «@e@? (Which one is the entity
of company?)
A. wgsrs (Short term) B foagdt (Perpetual)
C. ff@2 (Certain) D. Wit (Long term)
TR YU IO TwimAd @R -—--- TR Afsfafyz
Taread | [A (N) would be an example of a
principal, while a (n) ----- would be an example of
an agent.]
A. fERass; erReg@E (Accountant; Shareholder)
B. 3=z, foeaws (Bondholder; Accountant)
C. »reeRils; 59819 (Shareholder; Manager)
D. g9, eexiie (Manager; Bondholder)
Answer : 37.A 38.C 39. B 40.A 41. B 42.D 43. C
44.B 45.C 46.C 47.B 48.C

B (Marketing)
e e orel qer Refewaan fige fofe T2
(Which of the following is not a recognized base
for segmenting consumer markets?)
A. Tanae (Demographic)
B. teteenfes (Geographic)
C. afsaaifersiyers ==z (Competitive position)
D. swwifgs (Psychographic)
e @R WFH g S Rer Rrfe?
(Which of the following is considered to be an
element of marketing promotion?)
A. TRIPTR (Services)
B. s<g= (Location)
C. aepiezanet (Public Relations)
D. 3rif®: (Branding)
PO (SR Jitg A4y coftmrm &? (Who supplies the
product to the final consumer?)
A. @=Iif¥ (Company)
B. ===t (Supplier)
C. efstaif (Competitor)
D. sgrgar=anat (Middleman)

52.

53.

54.

55.

56.

57.

58.

59. AT

60.

FeereAd e gqiw Samiw FH6? (How many
are the main elements of marketing mix?)

A. 735 (Two) B. fe=6 (Three)

C. v=f6 (Four) D. sirefG (Seven)

e @A cotr 2a3? (Which of the following is a
consumer product?)

A. =5 (Raw materials) B. temi@sa (Generator)
C. T@#ifs (Machinery) D. tﬁf%ﬂ“—*m (Television)
s Rfvwn {7z Sootet 39 20, oGR8 qRaE
e SN q@ /W - I (A paid form of
nonpersonal presentation of goods, services and
ideas by an indentified sponsor is called ----- )

A. &v1= (Publicity)

B. e f@ (Personal selling)

C. faei#= (Advertising)

D. R@=x @1 (Sales promotion)

e @At 3 @Eeofr IR e FERER
sgge? (Which of the following includes in
external greening activities of a company?)

A. 39 iy (Pollution prevention)

B. It s (Earning profit)

C. #e fewizs (Product Design)

D. 3tz tofd (Preparing strategy)

N QIR ST (I S @ I=Af #ier ¥y «fiwes
T w8t 3a? (In which of the following stage of
the product life cycle, theccompany tries to
modify the characteristics of‘the product?)

A. 351 9 (Introduction stage)

B. %9 (Growth stage)

C. #<fet ®a (Maturity stage)

D. *req &7 (Declinesstage)

w7 @ T R e aor e s
Reass Tamia? (Which of the following is an
external consideration affecting price decision?)
A. Jrereresae e (Marketing Mix)

B. 71 areienesae qeicwtat (Overall Marketing Strategy)
C. Stwiafel (Objectives)

D. 3rens &S <=z vifzar (Nature of the Market and Demand)
famr @A Teq Adr age TgEw dfewm o qio?
(Which of the following is the last step of new
product development process?)

A. FfafErRiwae (Commercialization)

B. =5zt faee@e (Business Analysis)

C. =9 tefd (Product Development)

D. JeRerese e @®e (Marketing Strategy
Development)

e @G oM WEB-93 Twieaa? (Which
one of the following is an example of
supermarket in Bangladesh?)

A. SeanEt (Agora)

B. wiw WG (Mustafa Mart)

C. =tree (Aarong)

D. s=wifd w6 %% (Rokomary dot com)
N IS AW G2 (SIS HgTe] fNwA @ 2
¥ g@en? (In which of the following products
strong brand preference and consumer loyalty
are applicable?)

A. ARt 7 (Convenience product)

B. =f#iz @il (Shopping product)

C. faf*i2 #ey (Specialty product)

D. s@ifes ey (Unsought product)

Answer : 49.C 50.C51. D 52.C53. D54.C55. A
56.C 57.D 58.A 59.A 60.C o




61.

62.

63.

64.

65.

66.

67.

68.

=t e uii=eR (Finance and Banking)
e @At &R /g Fw 978? (Which one is
NOT the function of a central bank?)
A. @iFifs &o7w ¢ FwaRe | (Formulate and implement
monetary policy)
B. WA s @R ASE TBCHFA NS Qo7 8 WA |
(Formulate and implement intervention policy in the
foreign exchange market)
C. R @t WA s e 8 g7+ | (Hold
and manage the official foreign exchange reserve.)
D. wiffislRe @mifnetes fge ¢ ewEte | (Regulate
and supervise listed companies.)
ree fA4ifre e 2 8 ICTA AENR W (PN @R
o Rmpwm? (What is the relationship between
market interest rate and bond value?)
A. swigeiifies (Proportional) B. f=es= (Neutral)
C. e (Negative) D. 1< (Positive)

] IMEB-GF ~H(STYRA T o7 Fbrs e
Ef Y 8 T QAR R’ s v w2
(Which one of the following methods of capital
budgeting does not consider the time value of
money and the cash flow aspects of a project?)

A. 1515 731 (Pay-back Period)

B. % I$w =1 (Net Present Value)

C. Trssamy =9 (Internal Rate of Return)

D. o =t =9 (Average Rate of Return)

e @ vafe y@gR omim? (Which of the
following is a component of working capital?)

A. ifafErs =@ (Commercial paper)

B. @iz <& (Treasury bill)

C. fS@=@ (Debenture)

D. sgw=ey (Inventory)

e s T=svneeR g A I I A i
I wwaR wie? (Which of the following
sequences lists financial assets from least risky to
most risky?)

A. saifedR omE, TgRe e, I (Preferred stock,
Common stock, Bonds)

B. 3o, Mg @R, s@ifsdE @ (Bonds, Common
stock, Preferred stock)

C. gRe e, sifes® <=, I (Common stock,
Preferred stock, Bonds)

D. =, s@ifga <=E, sidiRd <3 (Bonds, Preferred
stock, Common stock)

wi-Re e v =@ @ @e? (Which country
was the first to introduce Marine Insurance?)

A. &1 (Greece) B. 2&@wTe (England)

C. 2=if (Italy) D. & (France)

e @ IENER wereAte y@g" 71? (Which one
of the following is NOT internal capital of a
business?)

A. gma %4 (Taxes Payable)

B. st wiwerz (Accruals)

C. wifes= <= (Preference share)

D. sifFe A= (Retained earnings)

fAba SomTes Wi @At SR 96 TR_Aw =0 ?
(Which of the following sources bear the lowest
financing cost?)

A. saifgsia o< (Preference share)

B. == (Bond)

C. siafe a1l (Retained earnings)

D. =g oo (Common share)

69

70.

71.

72.

A e ds-Rew ov@ awrey 71?2 (Which of
the following is not applicable to Life Insurance?)
A. =fesjzees pfe (Contract of Indemnity)

B. ssfel =17 (Surrender Value)

C. fasrearen =g (Insurable Interest)

D. pore sifeser (Utmost good faith)

R e e @ &? (Who is the maker of bill
of exchange?)

A. € (Holder) B. =wet (Drawer)

C. sifm2 (Drawee) D. &1%s (Payee)

TN AR (53 FWISW AR e 2? (Which
cheque doesn't require any endorsement for
negotiation?)

A. 31zF < (Bearer cheque)

B. wivt =161 (5= (Crossed cheque)

C. @wewHR &= (Traveler's cheque)

D. g% &= (Order cheque)

wigfae wfy-Rme s &? (Who is the father of
modern fire insurance?)

A. [t 9@ (Nicholas Barbon)

B. 2few w1 (Eugene Fama)

C. ©zfermm 71 (William Carry)

D. &= @< (Fischer Black)

Answer : 61.D 62.C 63. D64.D 65. D 66.C 67. A
68.B 69.A 70.B 71.A72:A

WRITING ABILITY TEST
Duration: 40 Minutes Total Marks: 45
The test contains 6 questions. Question 1-5 carry 5
marks for each and question 6 carries 20 marks.
Write answers only in the given space; no additional
paper will be supplied.

Translate the following sentences into English: 5

A. G SINE oo *fewi | - Answer: He / She is stronger than I.
B. w1 = 4 | - Answer: Education is an invaluable treasure.
C. (TR SACTA Gy Afer® 2Th Bl vl |
Answer: A combined effort is
development of the country.

D. &7 =t 41 1 - Answer: It's a long story.

E. 532t ©i7 ~A1ZSifa 531 =itz |

- Answer: He has a wholesale business in Chattogram.
Translate the following sentences into Bangla: 5

A. It is now three minutes to four.

- Answer: 5IF61 Jrercs © G J1f% |

B. The growth in the export sector this year surpassed all
expectations.

- Answer: 4 IEcER T Wited eRfe 71 ereri wife |

C. He has run into debts. - Answer: 7 4% R |

D. To err is human, to forgive is divine.

- Answer: W98 N@2 TF ¢/ A JAT / T T |

E. How much do | owe you? - Answer: Sifs (SR St F© ¢al?
Explain the following concepts in English: 5

A. Cyber Crime -

Answer: Cybercrime, also called computer crime, is the
use of a computer as an instrument to further illegal ends
B. The literary term 'Sonnet'-

Answer: Sonnet is a poem of fourteen lines using any of
a number of formal rhyme schemes. n

needed for the




C. International Mother Language Day-

Answer: International Mother Language Day stands for
the opportunity | have to speak a language which
preserves my tangible and intangible heritage, traditions,
and culture

D. Corporate Social Responsibility--

Answer: Corporate  Social Responsibility is a
management concept whereby companies integrate social
and environmental concerns in their business operations
E. Online Shopping -----

Answer: Online Shopping is the action or activity of
buying goods or services over the Internet.

Make a précis of the following passage: 5
There is an enemy beneath our feet- an enemy more
deadly for her complete impartiality. She recognizes no
national boundaries, no political parties and no population
groups. Everyone in the world is threatened by her. The
enemy is mother earth herself. When an earthquake
strikes, the world around us trembles. The power of a
quake is greater than anything man can produce. An
earthquake strikes without warning. When it does, its
power is immense. If it happens in urban areas, the
damage is huge. Buildings collapse, bridges fall and
gaping cracks appear in busy streets. If the quake strikes
at sea, huge tidal waves sweep inland. Earthquakes
happen when tow large pieces of Earth's crust called
tectonic plates suddenly slip. These plates slowly move
over a long period of time. It is not possible to predict
when an earthquake is due, but scientists today are trying
to find some way of fighting earthquakes. It is possible
that sometime in the near future mankind will discovera
way of protecting itself from earthquakes.

Answer :

Precis : Mother earth is a hiden enemy

Earthquake is mankind’s deadliest enemy which strikes
without any discrimination and is a threat to everyone. Its
power supersedes anything mankind can produce. It
strikes without any prior warning. It can wipe out an
entire city, cause huge tidal waves. Scientists are trying to
find out ways to protect the world from earthquakes.
ATHC I~ g T 8 AW %
TR 541 79 |

Te: ﬂﬁﬁaﬁ%|m®mmamamﬁm
foE Traee < (N (2 | (I g St e
e Rea Fre =@ wm R T e ARbHE W |
TENC AIENHCR TR 16 FAFIO] o N Geqer, f[oews
RS FIFR FAWRS 7l AT @ PeS G AGFMA
I PN 07 TR T G | FEAEIEE Y RS
RIS Sfeo3rel (@ 0T SN A0 A |

A ARG (P ARSI Spie aFNG  Sraiel |
TRFE ARSI S Ao I W CFCER. WA
AT SR MIMGracR | ©IR 745 g tafba @ sy #iew
G (EFIE SIS TS TEIte ¥ 4w fAge
TR CIVINGS FALTACS 209 (FF T (SR
-G AR & (PRSI SIS TS SIS 2 |
«Q m@ﬁ%w%@a Wﬂf@wmwvﬂﬁﬂmm
c‘i?ﬂ?!?a‘iﬂ:mﬁ il A2 S A SN AR |

W Ty @Pe CTONI @1, G, Fieese wreee,
RIEEEE Wamwﬁmﬁmﬁ T Al e
TN AT (@ FARS T @S NG | NSO
HRNSTHAR A2 SHTS! AR | ISTWCR 00, 5841w,
ABNT GAF BI-9, QeI-RKE Gl 1 T J
59 ffar ffve @ @2 fFigm [Rex T @S 21 |

m W ﬁ?‘T‘T 51 PO ](F, AWML Cﬂ? |

6.

Answer the following short questions:  5x4=20
A. T -F @ A STy &1 =272

TR | SoAMre NICEE POHE, SN, SSJIBIEd
ffretTa 2 FHw o TR IR e FAACTH G |
SR AT SAMIGE @B ANfETE SowysT F@7 27 |

B. Write a few lines about your mother. Mention the
qualities that make her dear to you.

Teza: My mother is the best mom in the world. She is
only 35 years old. She is very hard working women.
She is a housewife. She gets up early in the morning
and makes breakfast for us. She takes care of my
Papa, Grandfathers, grandmothers, and sister.
Everybody in my family loves and appreciates her.
Really, she deserves it. She is very kind-hearted
women. Nobody is as kind as my mother. If any
family member of our family become ill then she
takes care of him. My mother is truly prosperous.
These qualities make her very dear to me.

C. "y waw fodeT Sy g ¥ (State the
purpose of passing adjusting journal entries.)

Ted: e T TR SowretE et

Y. IANT I RIRPSs PRI LTI SIS @ s
feoeerTed 2 afSw T | T EERmTeE T  fg zre
M TS IR | ST KA 2T 4 T IMT! EmaSTE
I WITRETR L0 T 30123 |

R TRRZS I IRF® GLAA ANEH: [N ey «qe
TR J @R AR IR A | QST I T A
S 6 31 M AN Fm w1 ) g getER o
S fRARSIE Tze Fe O A | G99 T9pF ol A
IS TR A TOpF SIITS WAz AR < T =26
S 97 @ AR (T T | O IRANS TS ST
46 DN GR TR S T Rewd @ N
wife faca enféfes el tofa vt =31

o, I ARSG e W6 FPREFael: TR Ao ® 29T
T FA AR @ 6 Z W6 OIE S A | 4 S
TP (19 7eTR #[TE A«ReS fifoRa T4 =3 A | IR
Qe AF6 A MR WL AT T R | GhESI
ST qVE 4ABA TOpF (W Tal ZRCR OIF 47 AR
IR & T2 Aife e &3 |

8. e wfdfe w=ea ¢ oo wifdE JarEa ¢ I
afepi AT s T SRS zeW ¢ Afedia
TR AL 8 TRY FEHHCER & SF, I3, T 8
TEFTFICG T L TG =T |

D. tawifas Fagiomt F2 (What is scientific management?)
Ten: WEINE pmm ¢ oW WA agw adte
e @R 7F e TR ¢ FeEl el ares
i IR M T [/ oR fFrvwel [ s
IRAAR IO FA-Fe ¢ AT @Y qR IS
TeAM ¢ IRIZFIR A (IS FZIA |

E. el Jrers Refewar fefemz e 31 (Mention
the bases for segmenting consumer markets.)

Tea: Tore! AE Referaan e aqive 8 it ot

AT | AU
S, coielfes fefewad 3. TpIfefes eferadt
o, Tifgs Refewad 8. Wil frefewad




0
0'0

coteiifers fefesad (Geographic Segmentation)
ATHE@ GF AR TR ASAE (O SR ST
fafeq oo ot 41 23 |

QA M I W @, @l s [fey @@ e ©eme
e, 25, @ S el foq =7 |

oIeifers Referarem ¥ SAmmerE =@: e oke a1 @
(World religion or country), ¢rim == (Country
region), *Iza 1 Tt Swes (City or metro size), =g
(Density), s=ag (Climate) |
wredrifefes Refesae (Demographic Segmentation)

> Ty [ane [(feg @Her fofere amm fRefewad

(A OICF Gyl e fefesael e |

GUFE N ¥ W @, P, ARAEE e, o7, o T
PR (SIS ifRAr N =iy ol I |

TRyl Ragfefesacds Ja Soimiaete e 9 (Age),
e (Gender), ifsaitam wres (Family size), #fsaie=
@eve  (Family life cycle), =@ (Income), comii
(Occupation), =t (Education), = (Religion),
(Race), @ (Generation), sreirst (Nationality) |
weifes fRefewad (Psychographic Segmentation)

> TR Teifes REaRfm FRte sima sifknR Wy i

>

UCC

M A |
FRe Twie g e vifent SR fafae =0 Irfew vifeml
a3 7T |
i eferaem aqm SAmimete e Awes @
(Social class), &=a &5 (Life style), <feg
(Personality).
wiszfas fRefewad (Behavioural Segmentation)
SHafae Refead 2@ (CeR @M, O, I92E, 91 AT
2ffs e fefers it e ey weet ot =t |
uibdas  Refewaern  aqm  SAMAeE  2EM: AT
(Occasions), Jfx«t (Benefits), Iz sdmi (User
status), I=icaR == (User rate), egfes ®= (Readiness
stage), #iteli= eifs wearer (Attitude toward products) |
OR
@3B TR AT AEHIAY TR GE AT
A HFA 7TH @& &7 [ F21 (Why is the goal
of wealth maximization superior to the goal of
profit maximization of a firm? Explain.)
Tew: A THifgad @3 Sgwedy JAER @ B! AR
O I 0 M 9910 B QRel 93 © AR siwfe
TSI 1L I TRCR To7W F(FAER CFC@ | @ (Fq
B YR ARACS =2 {5 T g AR ke
JIRE I A |
@it @ TR B W6 9m e[E, Sedd TNELEn [eas
@ [ T e [{Eva s =@ T SRk 99
2RITA SfToTel 3R TR foel [Kavaw e e 3w
27 frca SfkEe 2RIReE TETH o1 Felefe 9 = |
ST el ©Ug eq I3 Rivceredie [ivames 1
IfE 2| A O R q= AREA@I | R T
TfEael R TR Wo IR 9 76 IeuE T+
Tfeaer g afswes e i Sracss Mo |
igfs TP ToIte [F FHIfgFRd O @ T qderel
JCACR =7 FR(EFA T @l (7 AR VIeTolCd va dl e
TR | G&T T FEPFR Z0R FIH FLE) S T |





